FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995

866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
WOODEN SPA STEP

= -

e
o ——

)
= A A Zo =t A e -
— e —— - e~ e e -
= T T et _— = z - g° y
W




“uas slred ay) UO payJew sJaquinu ay) 01 Ydyew Jou op asay] “AJuo 90uaJajal o) aJte J[qe sexogd JO JUaJU0D) 8yl Ul Ssiaquinu 1ed 810N

suoddns jeuoBeig

B renus)

sba [esale]

sda1s

‘ON

Buimeaq

uondiiosag

‘1O

S3X04d 40 LNJLNOD

Pl 1

www.ForeverRedwood.com

WOODEN SPA STEP



"9z1S uo Buipuadap Aren [[1m asempaey JnoA Jo suolsuswiq

130N

SINN ,.9T/S

SI8ysem | 9T/S

*(sda1s ay1 01 pue
sbs| ayy 03 spoddns jeuobelp syl yoene o)
O SMaIdS 398d , % ¢

*(sBa] ayy 01 sdais ayy yoene o)
siod ... ¢ X .91/

‘ON

Buimeaq

uondiiosag

1S1TT13dVMNMAYVH

P| 2

www.ForeverRedwood.com

WOODEN SPA STEP






Step 1: Use 5/16"" x 2 ¥%"" holts (A) with washers (C) & nuts (D) to attach the steps (1) to the lateral legs (2). Each part has a
series of numbers that indicate where to attach the part with the corresponding number.

_—

5/16"" X 2 %" Bolts

Step 2: Attach the central leg (3) to the steps, use 5/16"" x 2 %" bolts (A) with washers (C) & nuts (D). Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

5/16" X 2 %" Bolts

P| 4

WOODEN SPA STEP
www.ForeverRedwood.com




Step 3: Finally, attach the diagonal supports (4) to the legs and to the steps with 2 %" deck screws o (B). Each part has a series
of numbers that indicate where to attach the part with the corresponding number.

Front View

0

Back View

2 5’ Deck Screws

P| 5

WOODEN SPA STEP
www.ForeverRedwood.com



This completes the Spa Step Assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 6
WOODEN SPA STEP
www.ForeverRedwood.com



